New Maths GCSE: N1 - Reading Decimal Scales - Negative

What number is the arrow
pointing to?
T-;o 5 8-

A) -11 B) -10.5

C) -10.25 B =101 pemiin

What number is the arrow
pointing to?
3 T 11 -9
A) -12 B) -11.2
C) -10 D) -11.5 | Autograph

What number is the arrow
pointing to?
-10 -9 T -8

A) -8.75 B) -8.9

-85 O] 935| pemman

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:
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What number is the arrow
pointing to?

What number is the arrow
pointing to?

=7 6 T

A) -6.2  B) -6.5

€] -5.5 D) -5.8 Autograph

What number is the arrow
pointing to?

+ + T

A) -8.2 B) -7.8

g D) -8.1 Sumopranh

What number is the arrow
pointing to?

g T % _'4

A) 6.2  B) -6.4

C)-55 D) -5.6 o3
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



What number is the arrow
pointing to?
T -9 -8

A) 95  B)-9.2

C) -9.4 D) -10 o 4

What number is the arrow
pointing to?

o

O

— 1

A) 0.1 B) -0.1

C) -0.2 D) -0.25 Autograph

What number is the arrow
pointing to?
T -4 -3

C)-46 D) -475 | Aucsresh

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

This quiz was created on www.diagnosticquestions.com.



	New Maths GCSE: N1 - Reading Decimal Scales - Negative

